<letter> ::= a|b|c|d|e|[f[g|h|i|j|k|[1[m[n|o|p|q|r|s|t|u|v|w|[x]y]
A|IBICIDIE|F|GIH[I[J|K|LIM[N[O[P|Q|R|S|TIU[VIW[X]Y]

<digit> ::= 0|1|2|3|4|5|6]7]|8]9

<number> ::= <digit>

| <number> <digit>

<word> = <letter>
| <word> <letter>
| <word> '_'
<word_list> ::= <word>
| <word_list> <word>
<assignment_word> ::= <word> '=' <word>
<redirection> = '>' <word>
| '<' <word>
| <number> '>' <word>
| <number> '<' <word>
| '>>' <word>
| <number> '>>' <word>
|  '<<' <word>
| <number> '<<' <word>
| '<&' <number>
| <number> '<&' <number>
| '>&' <number>
| <number> '>&' <number>
|  '<&' <word>
| <number> '<&' <word>
|  '>&' <word>
| <number> '>&' <word>
| '<<-' <word>
| <number> '<<-' <word>
| I>&I I_I
| <number> '>&"' '-'
| |<&| 1_
|  <number> '<&' '-'
| '&>' <word>
| <number> '<>' <word>
|  '<>' <word>
| '>|' <word>
| <number> '>|' <word>
<simple_command_element> ::= <word>
| <assignment_word>
| <redirection>
<redirection_list> ::= <redirection>
| <redirection_list> <redirection>
<simple_command> ::= <simple_command_element>
| <simple_command> <simple_command_element>
<command> ::= <simple_command>
<pattern> ::= <word>

| <pattern> '|' <word>

<list> ::= <newline_list> <list0>



<listo> ::= <listl> '\n' <newline_list>
| <listi1> '&' <newline_list>

| <list1> ';' <newline_list>
<listl> ::= <listl> '&&' <newline_list> <listi1>
<listl> '||' <newline_list> <listil>
<listl> '&' <newline_list> <listi1>

I

I

| <list1> ';' <newline_list> <listi>

| <list1> '\n' <newline_list> <listi1>

| <pipeline_command>
<list_terminator> ::= '\n'

| .1
4

<newline_list> ::=

| <newline_list> '\n'
<simple_list> = <simple_listi1>
| <simple_listi> '&'
| <simple_listi> ';'

<simple_1listi> <simple_listl> '&&' <newline_list> <simple_listi1>

| <simple_listi> '||' <newline_list> <simple_listil>
| <simple_listil> '&' <simple_listi1>

| <simple_listl> ';' <simple_listi1>

|

<pipeline_command>
<pipeline_command> ::= <pipeline>
<pipeline> ::=

<pipeline> '|' <newline_list> <pipeline>
| <command>



